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*58. (II) Assuming a constant pressure gradient, if blood flow
is reduced by 65%, by what factor is the radius of a blood
vessel decreased?



v

*54. (I) A gardener feels it is taking too long to water a garden

60.

with a j-in.-diameter hose. By what factor will the time be

cut using a 3-in.-diameter hose instead? Assume nothing
else is changed.

From Poiseuille’s equation, Eq. 10-9, the volume flow rate Q is proportional to R*if all other factors

are the same. Thus R% = %RL“ is constant. If the volume of water used to water the garden is to be

same in both cases, then tR* is constant.

4 4
R 3/8
4 4 1
HhR' =Ry - t2=t|(—) =;,(_) =0.13
R, 5/8

Thus the h'me has been cut by 87%|.




